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She has hair.
Answer:

Heis a person.
Answer:

The beach is today.
Answer:

The view from the top is
Answer:

That was a movie.

Answer:

| love her smile.

Answer:

Thisis a hotel.
Answer:

He has a car.
Answer:

The food at the restaurant was
Answer:

They are friends.
Answer:




Answers

She has hair.
Answer: blonde

Heis a person.

Answer: friendly

The beach is today.
Answer: beautiful

The view from the top is

Answer: breathtaking

That was a movie.

Answer: terrific

| love her smile.

Answer: radiant

Thisis a hotel.
Answer: luxurious

He has a car.

Answer: fancy

The food at the restaurant was
Answer: delicious

They are friends.

Answer: loyal



